| -90 PSM 1, joint 1 |—45 |0 PSM 1, joint 1 |45 90
|-135 PSM 1, joint 2 ‘ -90 | -45 PSM 1, joint 2 0|
|»90 PSM 1, joint 3 | -45 | 0 PSM 1, joint 3 | 45 90 |
|—135 PSM 1, joint 4 ‘_90 ‘ -45 |0 PSM 1, joint 4 | 45 | 90 135 |
|—135 PSM 1, joint 5 ‘ -90 ‘ -45 | 0 PSM1,joint5 | 45 | 90 135 |
| -90 PSM 2, joint 1 |—45 |O PSM 2, joint 1 |45 90|
| 0 PSM 2, joint 2 ‘ 45 | 90 PSM 2, joint 2 135 |
|—90 PSM 2, joint 3 | -45 | 0 PSM 2, joint 3 | 45 90 |
|-135 PSM 2, joint 4 ‘_90 ‘ -45 |O PSM 2, joint 4 | 45 | 90 135 |
|—135 PSM 2, joint 5 ‘ -90 ‘ -45 | 0 PSM 2, joint5 | 45 | 90 135 |
| -90 PSM 3, joint 1 |-45 |O PSM 3, joint 1 |45 90|
|—90 PSM 3, joint 2 ‘ -45 | 0 PSM 3, joint 2 | 45 90 |
|—90 PSM 3, joint 3 | -45 | 0 PSM 3, joint 3 | 45 90 |
|—135 PSM 3, joint 4 ‘_90 ‘ -45 |0 PSM 3, joint 4 | 45 | 90 135 |
|7135 PSM 3, joint 5 ‘ -90 ‘ -45 | 0 PSM 3, joint 5 | 45 | 90 135 |
| -90 ECM, joint1 |—45 |O ECM, joint 1 |45 90|
|-90 ECM, joint2 ‘ -45 | 0 ECM, joint 2 | 45 90 |
| -45 0 ECM, joint 3 | 45 90 |

|»90 ECM, joint 3

| When printed correctly, this box should be 10 inches long

| When printed correctly, this box should be 250 mm long




